Charge-Discharge cycle data of all cycles are as shown below:

Cycle No. Energy inWh  Total Ah  Hours Distance-km  Lowest Voltage Highest Voltage Balanced
charging 1 585.0 10.0 1.0 0 52.36 60.26 False
discharging | 2 -1405.0 -30.0 3.0 26.0 29.93 53.8 True
charging 3 1075.0 19.0 1.0 0 49.709999999999994 | 59.05999999999999 False
discharging | 4 -878.0 -18.0 2.0 16.0 46.89999999999999 53.410000000000004 | True
charging 5 8338.0 140.0 15.0 0 51.379999999999995 | 60.37 False
discharging | 6 -1738.0 -35.0 10.0 32.0 47.02 53.71 False
charging 7 3860.0 65.0 14.0 0 52.38999999999999 61.8 False
discharging | 8 -2529.0 -52.0 9.0 46.0 42.05 53.56 True
charging 9 5029.0 85.0 13.0 0 52.58 61.46999999999999 False
discharging | 10 -1421.0 -28.0 3.0 26.0 48.11 54.03 True
charging 11 1217.0 21.0 1.0 0 53.41 60.0 False
discharging | 12 -869.0 -17.0 2.0 16.0 49.42 55.22 True
charging 13 1152.0 20.0 1.0 0 53.769999999999996 | 60.21 False
discharging | 14 -323.0 -6.0 0.0 6.0 50.6 55.620000000000005 | True
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